=> restart

2
> fi== —x

! f=n -7 )

_> Intervalo == —Pi..Pi
Intervalo == —m..n 2)

> plot(fx=—Pi..Pi)

ERRRE TR
4 2 4
=> L:=P1
i L=m A3
> a[0] = %-int(ﬁxZ—L..L)
2
4
0= 2T @
i ) ) ) . 1 n-Pi
> a[n]:=subs(sm(n-Pl)=0,cos(n-P1)=( 1),I-znt(f-cos( 7 -x),x=—L..L))
4 (—1)"
g =—2Z1 5)




> b[n] = subs(sin(n-Pi) =0, cos(n-Pi) = (—1)", %-int(f-sin( "LPi -x),x=—L..L) )

b =0 (6)

;> restart
> f = Heaviside(x + a) -exp(—a-x) — Heaviside(x)-exp( —a-x) + Heaviside(x) -exp(a-x)
— Heaviside(x — a) -exp(a-x)
f = Heaviside(x + a) e “* — Heaviside(x) e ** + Heaviside(x) e"* — Heaviside(x — a) e"*  (7)

> Intervalo :'=—a .0
Intervalo == —a .0 (t))

(> 7= subs(a=1,f)
h = Heaviside(x + 1) e " — Heaviside(x) e " + Heaviside(x) €' — Heaviside(x — 1) € 9

> plot(h,x=—1.1)

o051

L=1 (10)

1
> a[0] = f-int(h,xZ—L..L)
a,=2e—2 (11)




1
> a[n]:= Z-int(h-cos(

Pi
nL ! 'x), X =—L..L)

—2+2nmnesin(nw) +2ecos(nm) N —1+nmesin(nn) + ecos(nm)

n27t2+1 n27t2+1

a =
n

—nmnesin(nn) —ecos(nm) + 1
2 2
nm +1

> 4a[0] = subs(a=1,a[0])

aa0==2e—2

> aa[n] == subs(a=1, a[n])

—2+2nmnesin(nn) +2ecos(nmn) N —l+nnesin(nn) + ecos(nn)

aa =
! n27t2+1 n27t2+1
—nmesin(nn) —ecos(nm) + 1
+ 5
nt +1
[ 0 Pi
> STF500 = aa2[ ] +sum(aa[n]-cos( ”Ll -x),nzl..soojz

(> plot(STF500, x=—L..L)

(12)

13)

(14)

0.5




restart

Ecua = (3-x2 + 6-x-y(x)2) + (6~x2'y(x) + 4-y(x)3) diff (y(x),x) =0

Ecua=3x +6xy(x)"+ (6 X y(x) +4y(x)’) (

with(DEtools) :
odeadvisor(Ecua)

[ exact, rational]

d y(X))=0

)

(16)



